L] ||
50
| |
L] ] ||
10
|
L] ||
20
|
L] ||
50
| |
L] ] ||
10
|
L] ||
20
|
L] ||
50
|
L] ] ||
10
|
L] ||
20
|
L] ] ||
50
| |
L L] ||
10
|
L] ] ||
20
|
L] ||
50
|
L] ] ||
10
|

Write what each colour represents on each scale.




L] L L] ]
60 100
| |
L] ] L L1
40 100
|
L] L] ]
50 300
|
L] L] ]
80 100
| |
L] L L] ]
100 360
|
L] L L]
400 250
| |
L] ] L L] ]
125 150
|
L] L] ]
50 70
|
L] L L] ]
90 180
| |
L] L] ]
180 180
| |
L L] L L] ]
250 500
| |
L] [ L[] ]
1000 500
|
L] L] ]
70 80
| |
L] ] L] ]
100 150
|

Write what each colour represents on each scale.
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2+2=4;2%x2=4,4-2=2;4+2=2

Copy and complete the
diagram into your book. Write
out the number facts to go with

each diagram.




Find the value of the yellow bar and the blue bar.

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10




one Write the value of the numbers represented

by each box.
ten

hundred







Multiplication tables showing points where bridging the ten occurs




/79 011 9

You may only use the digit cards once. Using only these digits, answer the questions below.

1. What is the greatest five digit number you can make using only the digits on the cards?

2. List all the three digit numbers you can make. Once you have done that, put them into ascending
order.

3. How many different four digit numbers can you make?

4. You get another three cards.

+ _

What is the biggest number you can make using all eight cards? The equals card needs to be last.



Complementary Addition — Draw a number line and use it to find the difference.

?
29-13= T T T T T T T T T T T T T T T ]
13 20 29
+7 +9
87_71: T r 1ttt 1Tttt 1T TP 1t 71T 17T 17T 17T 7T 7T 7T 17 7T 7T 17T 1T 1T 1T 11
106_89: rrrtrt1r 1ttt T 1T 1T 1717 17T © T 171717 17T"17 1T 17 1T T 17T 1T 1T 1T°1

28-7= -
183 — 1589 = I B B B B B
92 - 36 = S S s B B s B B B
350 — 337 = -1
62 —48 = S s B B B s B B B s
42-19 = S S s B B s B B B
104 - 78 = S s s B e s B B B s

94_67: rrrrrrrrrr i rrrrrrrrrr T T T T



Write the number in words Write the number in words

Write the number in words

Millions Thousands Ones
Hundreds Tens Units Hundreds Tens Units Hundreds Tens Units
Two hundred and thirty-eight y ) Forty-five J Eight hundred and seventy-four
! !
Million Thousand
Millions Thousands Ones
Hundreds Tens Units Hundreds Tens Units Hundreds Tens Units
) J
l \/
Million Thousand
Millions Thousands Ones
Hundreds Tens Units Hundreds Tens Units Hundreds Tens Units
) )
! !
Million Thousand
Millions Thousands Ones
Hundreds Tens Units Hundreds Tens Units Hundreds Tens Units
) )
! !
Million Thousand




OO0
OO0
OO0
OO0
OO0

5x3=15
3x5=15
15+3=95
15+5=3

000
000
000
000
000
000
000

OOO0O00O0O0
OOO0O0O0O0OO
OOO0O0O0O0OO
OOO0O0O0O0OO
OOO0O0O0O0OO
OOO0O0O0O0OO
OOO0O00O0O0
OOO0O0O0O0OO
OOO0O0O0O0OO

000
000
000
000
QQQQ
OO0 0«
OQQO
000
000

000
000
000
000




The Area Game

What you need: This sheet and two six sided dice.

Player 1: Throw both dice Multiply the numbers on the dice together and then shade in
a rectangle with an area of that number of squares.

Player 2: Throw both dice. Multiply the numbers on the dice together and then shade in
a rectangle with an area of that number of squares.

You cannot overlap previous rectangles.
If any player cannot go, then the other player wins the game.



The Area Game

Player 1 throws a 3 and a 5. Three times five is fifteen. He can either make a rectangle
of 3 x 5 squares or 1 x 15. He goes with 1 x 15 and shades them blue.

Player 2 throws a 5 and a 6. Six times five is thirty. He can either make a rectangle of 3
x 10 squares, 2 x 15,5 x 6 or 1 x 30. He goes with 6 x 5 and shades them red.

Player 1 throws a 2 and a 4. Two times four is eight. He can either make a rectangle of
1 x 8 squares or 2 x 4. He goes with 1 x 8 and shades them green.

Player 2 throws a 4 and a 6. Six times four is twenty-four. He can either make a
rectangle of 2 x 12 squares, 3 x 8 or 4 x 6. He can’t do 1x 24 as there isn’t enough room
on the board. He goes with 3 x 8 and shades them yellow.




10 x 2=
Halfof 10 x 2 =
5x2=

10 x 6=
Halfof 10 x 6 =
5x6=

10 x5=
Halfof 10 x 5 =
5x5=

10 x 9=
Halfof 10 x 9 =
5%x9=

10 x 7=
Halfof 10 x 7 =
5x 7=

10 x 3=
Halfof 10 x 3 =
5x3=




10 x 16 =

Halfof 10 x 16 =

S5x16=

10 x 12 =

Halfof 10 x 12 =

Sx12=

10 x 13 =

Halfof 10 x 13 =

S5x13=

Now try these:

S5x14= 5x17= 5x21= 5x25=
5x8= 5x20= SXT= 5x19=
5x24= 5x15= S5x5= 5x120=



Read the scale where the arrows are pointing. Write the reading down to one decimal place.






BB --c Kl

3+6+9+12+11+7 =48




IHEHEEEEEI 1+2+7+12+10+4 =36







AN (i (LN
GGG

LN (o (SN
PG RE

LN S (s
PPV

LN i SN
PR G



AN (oS (SN
GG

RN () (SN
PRGN

AN S (SN
ESERSE A

(RN (oL (LN
R G



